A 5mC

8
all atom (compl.)
backbone (compl.)
6 -1 — all atom (subset)
"< J— backbone (subset)
Q4
%)
= |
o
2 —
0- - | ' | ' T ' | ' ' '
0 10 20 30 40 50
Time /ns
B 5hmC
8
all atom (compl.)
backbone (compl.)
6 —— all atom (subset)
< 41— backbone (subset)
04—
%)
=
=
2
0 T I T T ! | ' | ' J '
0 10 20 30 40 S0
Time/ns

Supplementary Figure S3. Atom-positional root-mean-square deviation of the protein
and DNA backbone atoms during the simulations. The terminal DNA and protein residues
were excluded from the calculations in the “subset” sets (red and black lines).



